

Konuralp Journal of Mathematics

Research Paper Journal Homepage: www.dergipark.gov.tr/konuralpjournalmath e-ISSN: 2147-625X



Some Properties between Lichtenberg, Jacobsthal and Mersenne Gaussian Numbers

Gamaliel Morales¹

¹Instituto de Matemática, Pontificia Universidad Católica de Valparaíso, Blanco Viel 596, Cerro Barón, Valparaíso, Chile.

Abstract

We define the Gauss Lichtenberg numbers. Then we give a formula for the Gauss Lichtenberg numbers by using the Lichtenberg numbers. We show that there is a relation between the Gauss Lichtenberg numbers, Lichtenberg, Jacobsthal and Mersenne numbers. Their Binet's formulas are obtained. We also define the matrices of the Gauss Lichtenberg numbers. We examine properties of the matrices.

Keywords: Gauss numbers, Jacobsthal numbers, Lichtenberg numbers, Mersenne numbers. 2010 Mathematics Subject Classification: 11B39, 11B83, 11C20.

1. Introduction

The investigation of Gaussian numbers is a research topic of great interest in recent years. If \mathbb{Z} is the set of integers, the set of these numbers is denoted by $\mathbb{Z}[i] = \{a + bi : a, b \in \mathbb{Z}, i^2 = -1\}$. Gaussian numbers were investigated by Gauss in 1832. In 1963, Horadam [11], introduced the concept of Gaussian Fibonacci numbers. And then Jordan [12] considered the two different sequences of Gaussian numbers and extended some relationships which are known about the common Fibonacci sequences.

In [2], Aşci and Gürel introduced the concept of Gaussian Jacobsthal and Gaussian Jacobsthal-Lucas numbers. They also studied also the complex Jacobsthal polynomials [3]. Polynomials that can be defined by Jacobsthal-like recursion relations are called Jacobsthal Polynomials and they were studied in 1997 by Horadam and in 2000 by Djordjević (see [6, 9]). More mathematicians were involved in the study of Jacobsthal polynomials such as Djordjević and Srivastava [7], among others. In [18, 19], Morales defined and studied the Gaussian third-order Jacobsthal numbers and Gaussian third-order Jacobsthal-Lucas polynomials.

Recently, in [5], Daşdemir and Bilgici introduced the Gaussian Mersenne numbers and studied some of their properties. In [17], Kumari et al. defined the generalization of the Mersenne and Gaussian Mersenne polynomials with arbitrary initial values and studied their properties. Further, in [23], Stockmeyer listed several characterizations of the new sequence called Lichtenberg sequence relative to Mersenne and Jacobsthal numbers, and numerous examples of cases in which the Lichtenberg sequence occurs. Also, in [8], Hinz introduced some fundamental characterizations of the Lichtenberg sequence, without placing emphasis on its properties.

Lichtenberg numbers are named after Georg Christoph Lichtenberg, who studied these numbers in the 17th century. Lichtenberg numbers are denoted by ℓ_n , defined mathematically by the recurrence $\ell_n + \ell_{n-1} = 2^n - 1$ and have the form

$$\ell_n = \frac{1}{6} \left[(-1)^{n+1} + 2^{n+2} - 3 \right]$$

The first few terms of the Lichtenberg sequence are:

0, 1, 2, 5, 10, 21, 42, 85, 170, 341, 682, ... (A000975).

The Lichtenberg numbers $\{\ell_n\}_{n=0}^{\infty}$ are defined by the following recurrence relation

$$\ell_{n+3} = 2\ell_{n+2} + \ell_{n+1} - 2\ell_n,\tag{1.1}$$

with $\ell_0 = 0$, $\ell_1 = 1$ and $\ell_2 = 2$ (see, e.g. [8, 23]). Also, the Binet formula for Lichtenberg numbers is defined in two different ways, including well-known sequences:

$$\ell_n = \frac{1}{2} \left[\frac{2^{n+2} - (-1)^{n+2}}{3} - 1 \right] = \frac{1}{2} \left[J_{n+2} - 1 \right]$$
(1.2)

Email addresses: amaliel.cerda.m@mail.pucv.cl (Gamaliel Morales)

and

$$\ell_n = \frac{1}{3} \left[2^{n+1} - 1 - \frac{(-1)^n + 1}{2} \right] = \frac{1}{3} \left[M_{n+1} - \frac{(-1)^n + 1}{2} \right],\tag{1.3}$$

where J_n is the *n*-th Jacobsthal number (see [10]) and M_n is the *n*-th Mersenne number (see [4]).

In this paper, we will present a unified view on complex sequences and discuss some properties of the Gauss Lichtenberg sequence $\{g\ell_n\}_{n\geq 0}$ defined mathematically by the recurrence

$$g\ell_{n+1} + g\ell_n = 2^n(2+i) - (1+i), \ g\ell_0 = 0$$

and related sequences such as the Gaussian Jacobsthal sequence, which is the sequence of differences of $g\ell_n$. And, of course, at some point Mersenne and Gaussian Mersenne numbers will enter the scene.

2. Gauss Lichtenberg numbers, Gauss modified Lichtenberg numbers and their some properties

2.1. Gauss Lichtenberg numbers

Now, we introduce Gauss Lichtenberg numbers $g\ell_n$ and present some of their basic properties.

Definition 2.1. *Gauss Lichtenberg numbers* $g\ell_n$ *are defined by*

$$g\ell_{n+3} = 2g\ell_{n+2} + g\ell_{n+1} - 2g\ell_n, \ n \ge 0, \tag{2.1}$$

with $g\ell_0 = 0$, $g\ell_1 = 1$ *and* $g\ell_2 = 2 + i$.

The first few terms are as follows:

$$\begin{array}{rcl} g\ell_3 &=& 2g\ell_2 + g\ell_1 - 2g\ell_0 \\ &=& 2(2+i) + (1) - 2(0) = 5 + 2i, \\ g\ell_4 &=& 2g\ell_3 + g\ell_2 - 2g\ell_1 \\ &=& 2(5+2i) + (2+i) - 2(1) = 10 + 5i, \\ g\ell_5 &=& 2g\ell_4 + g\ell_3 - 2g\ell_2 \\ &=& 2(10+5i) + (5+2i) - 2(2+i) = 21 + 10i \end{array}$$

Theorem 2.2. *For* $n \ge 0$ *, we have*

$$g\ell_{n+1} = \ell_{n+1} + i\ell_n$$

where ℓ_n is the n-th Lichtenberg number defined mathematically by the recurrence $\ell_{n+1} + \ell_n = 2^{n+1} - 1$ and $\ell_0 = 0$.

Proof. We can prove the theorem by the induction method on n. For n = 3, we have

$$g\ell_3 = 2g\ell_2 + g\ell_1 - 2g\ell_0 = 5 + 2i = \ell_3 + i\ell_2.$$

Now, assume that the theorem holds for $n \le k$, that is $g\ell_{k+1} = \ell_{k+1} + i\ell_k$. Then, for n = k+1, we have

$$g\ell_{k+2} = 2g\ell_{k+1} + g\ell_k - 2g\ell_{k-1}$$

$$= 2(\ell_{k+1} + i\ell_k) + (\ell_k + i\ell_{k-1}) - 2(\ell_{k-1} + i\ell_{k-2})$$

$$= 2\ell_{k+1} + \ell_k - 2\ell_{k-1} + i(2\ell_k + \ell_{k-1} - 2\ell_{k-2})$$

$$= \ell_{k+2} + i\ell_{k+1}.$$

Thus, the result follows.

Here, we define Binet's formulas for the Gauss Lichtenberg numbers. Let $\{-1, 1, 2\}$ be the solutions of the equation $x^3 - 2x^2 - x + 2 = 0$ associated with Eq. (2.1). So, we obtain for all $n \ge 0$:

$$g\ell_n = \frac{1}{6} \left[(-1)^n (-1+i) + 2^{n+1} (2+i) - 3(1+i) \right].$$

Using the definitions of Gaussian Jacobsthal numbers $\{J_{n+1}^g\}_{n\geq 0}$ in [2] and Gaussian Mersenne numbers $\{M_n^g\}_{n\geq 0}$ in [5], we have

$$J_{n+1}^{g} = J_{n+1} + J_{n}i = \frac{1}{3} [2^{n}(2+i) - (-1)^{n}(-1+i)],$$

$$M_{n+1}^{g} = M_{n+1} + M_{n}i = 2^{n}(2+i) - (1+i),$$
(2.2)

where J_n is the *n*-th Jacobsthal number and M_n is the *n*-th Mersenne number, respectively. Finally, we can write

$$g\ell_n = \frac{1}{2} \left[J_{n+2}^g - (1+i) \right] = \frac{1}{6} \left[2M_{n+1}^g + (-1)^n (-1+i) - (1+i) \right].$$
(2.3)

In particular, we obtain

$$g\ell_n = \frac{1}{3} \begin{cases} M_{n+1}^g - 1 & \text{if } n \equiv 0 \pmod{2} \\ M_{n+1}^g - i & \text{if } n \equiv 1 \pmod{2} \end{cases}$$

Furthermore, we easily obtain the identities stated in the following result:

Theorem 2.3. *For* $n \ge 0$ *, we have*

$$(g\ell_n)^2 + (g\ell_{n+1})^2 = \frac{1}{9} \left[5 \left(M_{n+1}^g \right)^2 + 2 \left(M_{n+1}^g + (1+i) \right) A_n - 2i \right],$$

where $\{A_n\}_{n\geq 0}$ is the sequence defined by $A_{n+1} = -A_n + (1+i)$ and $A_0 = 1$.

Proof. Using Eq. (2.3) and the notation $A_n = \frac{1}{2} \left[(-1)^{n+1} (-1+i) + (1+i) \right]$, we can write $g\ell_n = \frac{1}{3} \left[M_{n+1}^g - A_n \right]$, where M_{n+1}^g is the (n+1)-th Gaussian Mersenne number and

$$A_n = \begin{cases} 1 & \text{if } n \equiv 0 \pmod{2} \\ i & \text{if } n \equiv 1 \pmod{2} \end{cases}$$
(2.4)

Then, using the identities $A_n^2 + A_{n+1}^2 = 0$ and $M_{n+1}^g = 2M_n^g + (1+i)$, we have

$$9 \cdot \left[(g\ell_n)^2 + (g\ell_{n+1})^2 \right] = (M_{n+1}^g - A_n)^2 + (M_{n+2}^g - A_{n+1})^2$$

$$= (M_{n+1}^g)^2 - 2M_{n+1}^g A_n + A_n^2 + (M_{n+2}^g)^2 - 2M_{n+2}^g A_{n+1} + A_{n+1}^2$$

$$= (M_{n+1}^g)^2 + (M_{n+2}^g)^2 - 2(M_{n+1}^g A_n + M_{n+2}^g A_{n+1})$$

$$= 5(M_{n+1}^g)^2 + 2i + 2M_{n+1}^g A_n + 2(1+i)A_n - 4i$$

$$= 5(M_{n+1}^g)^2 + 2(M_{n+1}^g + (1+i))A_n - 2i,$$

where $\{A_n\}_{n\geq 0}$ is the sequence defined in Eq. (2.4).

Remark 2.4. For $n \ge 1$, using $A_{n+1} = -A_n + (1+i)$, we have

$$g\ell_{n+2} - 3g\ell_{n+1} + 2g\ell_n = \frac{1}{3} \left[M_{n+3}^g - A_{n+2} - 3M_{n+2}^g + 3A_{n+1} + 2M_{n+1}^g - 2A_n \right]$$

$$= -\frac{1}{3} \left[A_{n+2} - 3A_{n+1} + 2A_n \right]$$

$$= -\frac{1}{3} \left[A_n + 3A_n - 3(1+i) + 2A_n \right]$$

$$= (1+i) - 2A_n.$$

Then, $g\ell_{n+2} - 3g\ell_{n+1} + 2g\ell_n = (1+i) - 2A_n = \begin{cases} -1+i & \text{if } n \equiv 0 \pmod{2} \\ 1-i & \text{if } n \equiv 1 \pmod{2} \end{cases}$.

Definition 2.5. The Gauss Lichtenberg number matrix $Q\ell_n$ is defined by

$$Q\ell_n = \begin{bmatrix} g\ell_{n+2} & g\ell_{n+3} - 2g\ell_{n+2} & -2g\ell_{n+1} \\ g\ell_{n+1} & g\ell_{n+2} - 2g\ell_{n+1} & -2g\ell_n \\ g\ell_n & g\ell_{n+1} - 2g\ell_n & -2g\ell_{n-1} \end{bmatrix}, \ n \ge 1,$$

where $Q\ell_0 = \begin{bmatrix} 2+i & 1 & -2\\ 1 & i & 0\\ 0 & 1 & i \end{bmatrix}$ for convenience.

Note that the matrix $Q\ell_n$ has order 3×3 and its coefficients are gaussian integers. Now, we study important properties of this new matrix, whose coefficients are Gauss Lichtenberg numbers.

Proposition 1. For $n \ge 0$, we have

$$\det(Q\ell_{n+1}) = (-1)^n 2^{n+2} (2+i)$$

Proof. First, using $g\ell_{n+1} = \ell_{n+1} + i\ell_n$, note that

$$\begin{aligned} Q\ell_{n+1} &= \begin{bmatrix} \ell_{n+3} & \ell_{n+4} - 2\ell_{n+3} & -2\ell_{n+2} \\ \ell_{n+2} & \ell_{n+3} - 2\ell_{n+2} & -2\ell_{n+1} \\ \ell_{n+1} & \ell_{n+2} - 2\ell_{n+1} & -2\ell_n \end{bmatrix} + i \begin{bmatrix} \ell_{n+2} & \ell_{n+3} - 2\ell_{n+2} & -2\ell_{n+1} \\ \ell_{n+1} & \ell_{n+2} - 2\ell_{n+1} & -2\ell_n \\ \ell_n & \ell_{n+1} - 2\ell_n & -2\ell_{n-1} \end{bmatrix} \\ &= \begin{bmatrix} 2 & 1 & -2 \\ 1 & 0 & 0 \\ 0 & 1 & 0 \end{bmatrix}^{n+2} + i \begin{bmatrix} 2 & 1 & -2 \\ 1 & 0 & 0 \\ 0 & 1 & 0 \end{bmatrix}^{n+1} \\ &= \begin{bmatrix} 2+i & 1 & -2 \\ 1 & i & 0 \\ 0 & 1 & i \end{bmatrix} \begin{bmatrix} 2 & 1 & -2 \\ 1 & 0 & 0 \\ 0 & 1 & 0 \end{bmatrix}^{n+1} = Q\ell_0 \begin{bmatrix} 2 & 1 & -2 \\ 1 & 0 & 0 \\ 0 & 1 & 0 \end{bmatrix}^{n+1}. \end{aligned}$$

So we use multiplicative property of the determinant and we get

$$\det(Q\ell_{n+1}) = \begin{vmatrix} 2+i & 1 & -2 \\ 1 & i & 0 \\ 0 & 1 & i \end{vmatrix} \begin{vmatrix} 2 & 1 & -2 \\ 1 & 0 & 0 \\ 0 & 1 & 0 \end{vmatrix}^{n+1}$$
$$= (-2)^{n+2}(2+i).$$

Thus, the result follows.

Using Proposition 1 and properties of the determinant we can deduce that.

Proposition 2. For $n, m \ge 1$, we have

$$\det(Q\ell_n)\det(Q\ell_m) + \det(Q\ell_{n+1})\det(Q\ell_{m+1}) = 5 \cdot (-2)^{n+m+2}(3+4i).$$

Proof. From definition of determinant, we have

$$\det(Q\ell_n)\det(Q\ell_m) + \det(Q\ell_{n+1})\det(Q\ell_{m+1}) = (-2)^{n+1}(2+i)\cdot(-2)^{m+1}(2+i) + (-2)^{n+2}(2+i)\cdot(-2)^{m+2}(2+i)$$
$$= (-2)^{n+m+2}(2+i)^2 + (-2)^{n+m+4}(2+i)^2$$
$$= 5\cdot(-2)^{n+m+2}(2+i)^2$$
$$= 5\cdot(-1)^{n+m+2}(3+4i).$$

Then, the result is obtained.

Using n = m in Proposition 2, we get

Corollary 2.6. For $n \ge 1$, we have

$$\det\left((Q\ell_n)^2\right) + \det\left((Q\ell_{n+1})^2\right) = 5 \cdot 2^{2(n+1)}(3+4i).$$

Proposition 3. For $n, m \ge 0$, we have

$$4(2+i)\det(Q\ell_{n+m+1}) = \det(Q\ell_{n+1})\det(Q\ell_{m+1}).$$

Proof. From definition of determinant, we have

$$\det(Q\ell_{n+1})\det(Q\ell_{m+1}) = ((-2)^{n+2}(2+i))((-2)^{m+2}(2+i))$$

= $(-2)^{n+m+4}(2+i)^2$
= $(-2)^2(2+i)\cdot(-2)^{n+m+2}(2+i)$
= $4(2+i)\det(Q\ell_{n+m+1}).$

Proposition 4. *For* $n \ge 0$ *, we have*

$$\det\left(\left(Q\ell_{n+2}\right)^n\right) - \det\left(\left(Q\ell_{n+1}\right)^n\right) = (-2)^{n^2+2n}(2+i)^n((-2)^n+1)$$

Proof.

$$\det \left((Q\ell_{n+2})^n \right) - \det \left((Q\ell_{n+1})^n \right) = \left((-2)^{n+3}(2+i) \right)^n + \left((-2)^{n+2}(2+i) \right)^n$$
$$= (-2)^{n^2+3n}(2+i)^n + (-2)^{n^2+2n}(2+i)^n$$
$$= (-2)^{n^2+2n}(2+i)^n ((-2)^n + 1).$$

Then, the result follows.

2.2. Gauss modified Lichtenberg numbers

In this subsection, we introduce Gauss modified Lichtenberg numbers $\{g\ell_n^*\}_{n\geq 0}$ and present some of their basic properties.

Definition 2.7. *Gauss modified Lichtenberg numbers* $g\ell_n^*$ *are defined by*

$$g\ell_{n+3}^* = 2g\ell_{n+2}^* + g\ell_{n+1}^* - 2g\ell_n^*, \ n \ge 0,$$
(2.5)

with $g\ell_0^* = 3 + \frac{i}{2}$, $g\ell_1^* = 2 + 3i$ and $g\ell_2^* = 6 + 2i$.

The first few terms are as follows:

$$\begin{array}{rcl} g\ell_3^* &=& 2g\ell_2^* + g\ell_1^* - 2g\ell_0^* \\ &=& 2(6+2i) + (2+3i) - 2\left(3+\frac{i}{2}\right) = 8+6i, \\ g\ell_4^* &=& 2g\ell_3^* + g\ell_2^* - 2g\ell_1^* \\ &=& 2(8+6i) + (6+2i) - 2(2+3i) = 18+8i, \\ g\ell_5^* &=& 2g\ell_4^* + g\ell_3^* - 2g\ell_2^* \\ &=& 2(18+8i) + (8+6i) - 2(6+2i) = 32+18i. \end{array}$$

Theorem 2.8. For $n \ge 1$, we have

where ℓ_n^* is the n-th modified Lichtenberg number defined by $\ell_n^* = 2^n + \varepsilon_n$, with $\varepsilon_n = (-1)^n + 1$.

Proof. We can prove the theorem by the induction method on n. For n = 3, we have

$$g\ell_3^* = 2g\ell_2^* + g\ell_1^* - 2g\ell_0^* = 8 + 6i = \ell_3^* + i\ell_2^*.$$

Now, assume that the theorem holds for $n \le k$, that is $g\ell_{k+1}^* = \ell_{k+1}^* + i\ell_k^*$. Then, for n = k+1, we have

$$\begin{split} g\ell_{k+2}^* &= 2g\ell_{k+1}^* + g\ell_k^* - 2g\ell_{k-1}^* \\ &= 2\left(\ell_{k+1}^* + i\ell_k^*\right) + \left(\ell_k^* + i\ell_{k-1}^*\right) - 2\left(\ell_{k-1}^* + i\ell_{k-2}^*\right) \\ &= 2\ell_{k+1}^* + \ell_k^* - 2\ell_{k-1}^* + i\left(2\ell_k^* + \ell_{k-1}^* - 2\ell_{k-2}^*\right) \\ &= \ell_{k+2}^* + i\ell_{k+1}^*. \end{split}$$

Thus, the result follows.

The Binet formula for the Gauss modified Lichtenberg numbers is given by

$$g\ell_n^* = 2^{n-1}(2+i) + (-1)^{n-1}(-1+i) + (1+i)$$

or equivalently

$$g\ell_n^* = 2^{n-1}(2+i) + 2A_n, \ g\ell_0^* = 3 + \frac{i}{2}$$

with A_n as in Eq. (2.4).

Theorem 2.9. For $n \ge 2$, we have

$$\frac{1}{2} \cdot g\ell_{n+1}^* = g\ell_{n+1} + g\ell_n - 3g\ell_{n-1},$$

Proof. Using the relation $g\ell_n = \frac{1}{3} [M_{n+1}^g - A_n]$ for the *n*-th Gauss Lichtenberg number, the identities $A_{n+1} = -A_n + (1+i)$ and $M_{n+1}^g = 2M_n^g + (1+i)$. Then, we have

$$g\ell_{n+1} + g\ell_n - 3g\ell_{n-1} = \frac{1}{3} \left[M_{n+2}^g - A_{n+1} + M_{n+1}^g - A_n - 3M_n^g + 3A_{n-1} \right]$$

$$= \frac{1}{3} \left[4M_{n+1}^g - 5M_n^g + 2A_{n+1} - A_n \right]$$

$$= \frac{1}{3} \left[3M_n^g - 3A_n + 6(1+i) \right]$$

$$= M_n^g - A_n + 2(1+i).$$

Using $A_n = \frac{1}{2} \left[(-1)^{n+1} (-1+i) + (1+i) \right]$ and $M_n^g = 2^{n-1} (2+i) - (1+i)$, we obtain

$$\begin{split} M_n^g - A_n + 2(1+i) &= \frac{1}{2} \left[2^n (2+i) - (-1)^{n+1} (-1+i) - (1+i) + 2(1+i) \right] \\ &= \frac{1}{2} \left[2^n (2+i) + (-1)^n (-1+i) + (1+i) \right] \\ &= \frac{1}{2} \cdot g \ell_{n+1}^*. \end{split}$$

Thus, the result follows.

Theorem 2.10. For $n \ge 2$, we have

$$9 \cdot g\ell_n = 10g\ell_{n+1}^* - \frac{3}{2}g\ell_n^* - 13g\ell_{n-1}^*.$$

Proof. Using the relation $g\ell_n^* = 2^{n-1}(2+i) + 2A_n$, for the *n*-th Gauss modified Lichtenberg number. Then, we obtain

$$\begin{aligned} 10g\ell_{n+1}^* - \frac{3}{2}g\ell_n^* - 13g\ell_{n-1}^* &= 10\left[2^n(2+i) + 2A_{n+1}\right] - \frac{3}{2}\left[2^{n-1}(2+i) + 2A_n\right] - 13\left[2^{n-2}(2+i) + 2A_{n-1}\right] \\ &= 10 \cdot 2^n(2+i) + 20A_{n+1} - 3 \cdot 2^{n-2}(2+i) - 3A_n - 13 \cdot 2^{n-2}(2+i) - 26A_{n+1} \\ &= 6 \cdot 2^n(2+i) + 3A_n - 6(1+i) \\ &= 3\left[2^{n+1}(2+i) + A_n - 2(1+i)\right] \\ &= 9 \cdot g\ell_n. \end{aligned}$$

Then, the result follows.

Theorem 2.11. For $n \ge 0$ and $m \ge 2$, we have

$$g\ell_{n+m+1} = \ell_{n+1}g\ell_{m+1} + (\ell_{n+2} - 2\ell_{n+1})g\ell_m - 2\ell_ng\ell_{m-1}.$$

Proof. Using Theorem 2.2 and formula $\ell_{n+m+1} = \ell_{n+1}\ell_{m+1} + (\ell_{n+2} - 2\ell_{n+1})\ell_m - 2\ell_n\ell_{m-1}$, we have

$$\begin{split} \ell_{n+1}g\ell_{m+1} + (\ell_{n+2} - 2\ell_{n+1})g\ell_m &- 2\ell_n g\ell_{m-1} \\ &= \ell_{n+1} \left(\ell_{m+1} + i\ell_m\right) + \left(\ell_{n+2} - 2\ell_{n+1}\right) \left(\ell_m + i\ell_{m-1}\right) - 2\ell_n \left(\ell_{m-1} + i\ell_{m-2}\right) \\ &= \ell_{n+1}\ell_{m+1} + \left(\ell_{n+2} - 2\ell_{n+1}\right) \ell_m - 2\ell_n \ell_{m-1} + i\left[\ell_{n+1}\ell_m + \left(\ell_{n+2} - 2\ell_{n+1}\right) \ell_{m-1} - 2\ell_n \ell_{m-2}\right] \\ &= \ell_{n+m+1} + i\ell_{n+m} \\ &= g\ell_{n+m+1}. \end{split}$$

Then, the result is obtained.

Definition 2.12. The Gauss modified Lichtenberg number matrix $Q\ell_n^*$ is defined by

$$Q\ell_n^* = \begin{bmatrix} g\ell_{n+2}^* & g\ell_{n+3}^* - 2g\ell_{n+2}^* & -2g\ell_{n+1}^* \\ g\ell_{n+1}^* & g\ell_{n+2}^* - 2g\ell_{n+1}^* & -2g\ell_n^* \\ g\ell_n^* & g\ell_{n+1}^* - 2g\ell_n^* & -2g\ell_{n-1}^* \end{bmatrix}, \ n \ge 1,$$

where $Q\ell_0^* = \begin{bmatrix} 6+2i & -4+2i & -4-6i \\ 2+3i & 2-4i & -6-i \\ 3+\frac{i}{2} & -4+2i & -1-5i \end{bmatrix}$ for convenience.

Note that Gaussian modified Lichtenberg number $Q\ell_n^*$ satisfies the relation $Q\ell_{n+3}^* = 2Q\ell_{n+2}^* + Q\ell_{n+1}^* - 2Q\ell_n^*$.

Proposition 5. *For* $n \ge 0$ *, we have*

$$let (Q\ell_{n+1}^*) = 36 \cdot (-1)^n 2^{n+1} (2+i).$$

Proof. The usual modified Lichtenberg number ℓ_n^* satisfies the next relation $\ell_{n+3}^* = 2\ell_{n+2}^* + \ell_{n+1}^* - 2\ell_n^*$, Then, we have

$$\begin{bmatrix} \ell_{n+2}^* & \ell_{n+3}^* - 2\ell_{n+2}^* & -2\ell_{n+1}^* \\ \ell_{n+1}^* & \ell_{n+2}^* - 2\ell_{n+1}^* & -2\ell_n^* \\ \ell_n^* & \ell_{n+1}^* - 2\ell_n^* & -2\ell_{n-1}^* \end{bmatrix} = \begin{bmatrix} 6 & -4 & -4 \\ 2 & 2 & -6 \\ 3 & -4 & -1 \end{bmatrix} \begin{bmatrix} 2 & 1 & -2 \\ 1 & 0 & 0 \\ 0 & 1 & 0 \end{bmatrix}^n$$

Then, we have

$$\begin{aligned} \mathcal{Q}\ell_{n+1}^* &= \begin{bmatrix} \ell_{n+3}^* & \ell_{n+4}^* - 2\ell_{n+3}^* & -2\ell_{n+2}^* \\ \ell_{n+2}^* & \ell_{n+3}^* - 2\ell_{n+2}^* & -2\ell_{n+1}^* \\ \ell_{n+1}^* & \ell_{n+2}^* - 2\ell_{n+1}^* & -2\ell_n^* \end{bmatrix} + i \begin{bmatrix} \ell_{n+2}^* & \ell_{n+3}^* - 2\ell_{n+2}^* & -2\ell_{n+1}^* \\ \ell_{n+1}^* & \ell_{n+2}^* - 2\ell_{n+1}^* & -2\ell_n^* \\ \ell_n^* & \ell_{n+1}^* - 2\ell_n^* & -2\ell_{n-1}^* \end{bmatrix} \\ &= \begin{bmatrix} 6 & -4 & -4 \\ 2 & 2 & -6 \\ 3 & -4 & -1 \end{bmatrix} \left(\begin{bmatrix} 2 & 1 & -2 \\ 1 & 0 & 0 \\ 0 & 1 & 0 \end{bmatrix}^{n+1} + i \begin{bmatrix} 2 & 1 & -2 \\ 1 & 0 & 0 \\ 0 & 1 & 0 \end{bmatrix}^n \right) \\ &= \begin{bmatrix} 6 & -4 & -4 \\ 2 & 2 & -6 \\ 3 & -4 & -1 \end{bmatrix} \begin{bmatrix} 2+i & 1 & -2 \\ 1 & i & 0 \\ 0 & 1 & i \end{bmatrix} \begin{bmatrix} 2 & 1 & -2 \\ 1 & 0 & 0 \\ 0 & 1 & 0 \end{bmatrix}^n. \end{aligned}$$

So we use multiplicative property of the determinant and we get

$$\det\left(\mathcal{Q}\ell_{n+1}^*\right) = \begin{vmatrix} 6 & -4 & -4 \\ 2 & 2 & -6 \\ 3 & -4 & -1 \end{vmatrix} \begin{vmatrix} 2+i & 1 & -2 \\ 1 & i & 0 \\ 0 & 1 & i \end{vmatrix} \begin{vmatrix} 2 & 1 & -2 \\ 1 & 0 & 0 \\ 0 & 1 & 0 \end{vmatrix}^n$$
$$= -36 \cdot (-2)^n (-4-2i)$$
$$= 36 \cdot (-1)^n 2^{n+1} (2+i).$$

Thus, the result follows.

Proposition 6. For $n \ge 0$, we have

$$\det\left(Q\ell_{n+1}^*\right) = 18 \cdot \det\left(Q\ell_{n+1}\right)$$

Proof. The proof is easily deduced from Propositions 1 and 5.

3. Conclusion

We defined new numbers by using definitions of Gauss sequence, the Lichtenberg number and modified Lichtenberg number are studied. The properties of those numbers were examined. Some theorems about these numbers were presented, their matrix representations are established and identities with their determinants are demonstrated. In the future, we extend these results to generalized Lichtenberg numbers, including arbitrary initial conditions. In particular, these types of numbers can be extended by applying some previous work such as binomial transform ([14, 22]), finite operators ([13]), Hessenberg determinants ([15]), third-order quaternions ([20, 21]), hybrid numbers ([1]), bicomplex numbers ([16]), and many others.

Article Information

Acknowledgements: The authors would like to express their sincere thanks to the editor and the anonymous reviewers for their helpful comments and suggestions.

Author's contributions: All authors contributed equally to the writing of this paper. All authors read and approved the final manuscript.

Conflict of Interest Disclosure: No potential conflict of interest was declared by the author.

Copyright Statement: Authors own the copyright of their work published in the journal and their work is published under the CC BY-NC 4.0 license.

Supporting/Supporting Organizations: No grants were received from any public, private or non-profit organizations for this research.

Ethical Approval and Participant Consent: It is declared that during the preparation process of this study, scientific and ethical principles were followed and all the studies benefited from are stated in the bibliography.

Plagiarism Statement: This article was scanned by the plagiarism program. No plagiarism detected.

Availability of data and materials: Not applicable

References

- [1] Y. Alp, E. G. Kocer, Hybrid Leonardo numbers, Chaos Solitons Fractals 150, Article ID 111128 (2021)
- M. Aşci, E. Gürel, Gaussian Jacobsthal and Gaussian Jacobsthal-Lucas numbers, Ars. Comb. 111 (2013), 53-63.
- [3] M. Aşci, E. Gürel, Gaussian Jacobsthal and Gaussian Jacobsthal-Lucas polynomials, Notes on Number Theory and Discrete Mathematics 19(1) (2013), 25-36
- [4] P. Catarino, H. Campos, P. Vasco, On the Mersenne sequence, Annales Mathematicae et Informaticae 46 (2016), 37-53.
- [5] A. Daşdemir, G. Bilgici, *Gaussian Mersenne numbers and generalized Mersenne quaternions*, Notes on Number Theory and Discrete Mathematics **25(3)** (2019), 87–96.
- [6] G. B. Djordjević, Generalized Jacobsthal polynomials, Fibonacci Quart. 38 (2000), 239–243. [7] G. B. Djordjević, H. M. Srivastava, Incomplete generalized Jacobsthal and Jacobsthal-Lucas numbers, Mathematical and Computer Modelling 42(9)
- (2005), 1049-1056.
- [8] A. M. Hinz, The Lichtenberg sequence, Fibonacci Quart. 55(2) (2017), 2-12.
- A. F. Horadam, Jacobsthal representation polynomials, Fibonacci Quart. 35 (1997), 137-148.
- [10] A. F. Horadam, Jacobsthal representation numbers, The Fibonacci Quarterly 43(1) (1996), 40-54.
- [11] A. F. Horadam, A generalized Fibonacci sequence, Am. Math. Mon. 68(5) (1961), 455–459.
 [12] J. H. Jordan, Gaussian Fibonacci and Lucas numbers, Fibonacci Quart. 3(4) (1965), 315–318.
- [13] C. Kızılateş, N. Yuglu, N., B. Çekim, *Binomial transforms of of Quadrapell sequences and Quadrapell matrix sequences*, Journal of Science and Arts
 [14] C. Kızılateş, N. Yuglu, N., B. Çekim, *Binomial transforms of of Quadrapell sequences and Quadrapell matrix sequences*, Journal of Science and Arts
- 1(38) (2017), 69–80. [15] C. Kızılateş, W. S. Du, F. Qi, Several Determinantal Expressions of Generalized Tribonacci Polynomials and Sequences, Tamkang Journal of
- Mathematics 53(3) (2022), 277-291.
- [16] C. Kızılateş, P. Catarino, N. Tuglu, On the bicomplex generalized Tribonacci quaternions, Mathematics 7:80 (2019).
- [17] M. Kumari, K. Prasad, J. Tanti, On the generalization of Mersenne and Gaussian Mersenne polynomials, J Anal. 32 (2024), 931–947.
- [18] G. Morales, On Gauss third-order Jacobsthal numbers and their applications, An. Stiint. Univ. Al. I. Cuza Iași. Mat. (N.S.) Tomul LXVII, f. 2 (2021),
- [19] G. Morales, Gaussian third-order Jacobsthal and Gaussian third-order Jacobsthal-Lucas polynomials and their properties, Asian-European Journal of Mathematics 14(5) (2021), 1-12.
- [20] G. Morales, Identities for third order Jacobsthal quaternions, Adv. Appl. Clifford Algebra 27(2) (2017), 1043–1053.
- [21] G. Morales, On a generalization of Tribonacci quaternions, Mediter. J. Math. 14:239 (2017). [22] Morales, G. Binomial transforms of the third-order Jacobsthal and modified third-order Jacobsthal polynomials, Univers. J. Math. Appl. 7(3) (2024),
- 144–151.
 [23] P. K. Stockmeyer, An exploration of sequence A000975, Fibonacci Quart. 55(5) (2017), 174–185.